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SECTIONA
Answer ALL questions. Write your answers in the spaces provided.
1 Eve buys lunch on her way to work.
She sees this meal deal.
Meal deal
Buy any sandwich
snack and drink
for £3.99

Eve chooses these items.

Chicken sandwich £2.85

Fruit snack pot 79p

Coffee £1.59
-

Work out how much money Eve will save using the meal deal.
You must show your working.
(3)
£
N
(Total for Question 1 is 3 marks)
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-
Work out 74.88 - 1.2

You must show your working.

(3)

(Total for Question 2 is 3 marks)
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3 ABCDis a 4-sided shape.
BDis a line of symmetry of the shape.
A C
( )
(a) Work out the value of x.
(3)
N J
( )
(b) Use estimation to check your answer.
(1)
N J
(Total for Question 3 is 4 marks)
J
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4 Max is building a new shed.
He has drawn this sketch.
A E
] 26m
1.8m i
ﬁi _________________________ v
v 1 Av
< >
2m
Each shaded wall of the shed is in the shape of a trapezium.
The other two walls are rectangular.
Max wants to cover the four walls with wood cladding.
He will not use any cladding for the floor or the roof.
Max will buy the cladding in packs.
Each pack of cladding covers 1.1 m?
The cladding can be cut and joined.
Max knows that the two rectangular walls need 8.8 m? of cladding in total.
-
Work out how many packs of cladding Max needs to cover the four walls.
(6)
g
\
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(Total for Question 4 is 6 marks)

TOTAL FOR SECTION A IS 16 MARKS
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